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Discharge @ (cumec)

poilimo Sllgy 4y bgs yo 81,59 000 (55lwlas

02

M {days) =084 A (empirical)
2

A = Drainage area (km )

Four separation procedures

E (N days after peak)

G — -
C Recession

_— e —— = T ——
Ground water contribution
'D to stream (hase flow)

Time t (hr or days)
Fig. 5.6 Hydrograph separation
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time (hr) (cms) base flow (cms) (cms) '“’:’.)51 e 4 ‘) nog Soell, ¥ »‘9 ‘_.9‘;)9%_@
2 25 25 0
3 23.5 23.5 0
T . O R s
6 112.5 19.5 93 .
7 145 17.5 127.5 |
8 135 20 115 20 ]
9 72.5 20.5 52 0 )
10 55 225 325 | £ 4
11 45 25 20 R
12 40 25.5 14.5 40 4
13 35 27.5 7.5 20
14 30 30 0 0 . . — — — . —— — .
15 27.5 27.5 0 é“hmmﬂmwajgagaa:
16 25.5 25.5 0 g
Bﬂ 0 time (hr)

25 25 /




time
(hr) Q (cms)
0 0
1 15
2 39.5
3 93
4 127.5
5 115
6 52
7 325
8 20
9 14.5
10 7.5
11 0
V (m3) 1859400
R (cm) 1.86
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Q (cms)

time (hr)
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time 3 hours UH
(hr) Q (cms) (cms)
0 0 0.0
1 15 8.1
2 39.5 21.2
3 93 50.0
4 127.5 68.6
5 115 61.8
6 52 28.0
7 32.5 17.5
8 20 10.8
9 14.5 7.8
10 7.5 4.0
11 0 0.0
V (m3) 1859400 1000000
R (cm) 1.86 1.0
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time (hr)

10 11
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time 3 hours UH
(hr) (cms) Q (cms)
0 0.0 0.0
1 8.1 12.4
2 21.2 32.7
3 50.0 77.0
4 68.6 105.6
5 61.8 95.2
6 28.0 43.1
7 17.5 26.9
8 10.8 16.6
9 7.8 12.0
10 4.0 6.2
@ll 0.0 0.0

Q (cms)

R =CP =0.64x(3x8) =15.4mm =1.54cm
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R, =CP, =0.64x(3x2.7) =5.2mm =0.52cm
R, =CP, =0.64x(3x4)=7.7/mm =0.77cm
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time (hr) 3 hours UH (cms) Q (cms)
0 0.0 0.0 0.0
1 8.1 4.2 --- 4.2
2 21.2 11.0 - 11.0
3 50.0 26.0 0.0 26.0
4 68.6 35.7 6.2 41.9
5 61.8 32.2 16.4 48.5
6 28.0 14.5 38.5 53.1
7 17.5 9.1 52.8 61.9
8 10.8 5.6 47.6 53.2
9 7.8 4.1 21.5 25.6
10 4.0 2.1 13.5 15.6
11 0.0 0.0 8.3 8.3
12 6.0 6.0
13 - - 3.1 3.1
14 0.0 0.0
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time (hr) | 3 hours UH (cms) | 3 hours UH (3 hours delay) | Sum of two UHs 6 hours UH (cms)
0 0.0 - 0.0 0.0
1 8.1 - 8.1 4.1
2 21.2 - 21.2 10.6
3 50.0 0.0 50.0 25.0
4 68.6 8.1 76.6 38.3
5 61.8 21.2 83.1 41.5
6 28.0 50.0 78.0 39.0
7 17.5 68.6 86.0 43.0
8 10.8 61.8 72.6 36.3
9 7.8 28.0 35.8 17.9
10 4.0 17.5 21.5 10.8
11 0.0 10.8 10.8 5.4
12 --- 7.8 7.8 3.9
13 --- 4.0 4.0 2.0
14 0.0 0.0 0.0
1000000 1000000 2000000 1000000
1.0 1.0 2.0 1.0
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R =CP =0.64x(6x5)=19.2mm =1.92cm

time 6 hours UH

(hr) (cms) Q (cms)
0 0.0 0.0
1 4.1 7.8
2 10.6 20.4
3 25.0 48.0
4 38.3 73.6
5 41.5 79.8
6 39.0 74.9
7 43.0 82.6
8 36.3 69.7
9 17.9 34.3
10 10.8 20.7
11 5.4 10.3
12 3.9 7.5
13 2.0 3.8
14 0.0 0.0
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R, =CP, =0.64x(3x5) =9.6mm =0.96cm
R, =CP, =0.64x(3x5)=9.6mm =0.96cm

time 3 hours UH

(hr) (cms) Q (cms)
0 0.0 0.0 --- 0.0
1 8.1 7.7 --- 7.7
2 21.2 20.4 --- 20.4
3 50.0 48.0 0.0 48.0
4 68.6 65.8 7.7 73.6
5 61.8 59.4 20.4 79.8
6 28.0 26.8 48.0 74.9
7 17.5 16.8 65.8 82.6
8 10.8 10.3 59.4 69.7
9 7.8 7.5 26.8 34.3
10 4.0 3.9 16.8 20.7
11 0.0 0.0 10.3 10.3
12 --- 7.5 7.5
13 --- 3.9 3.9
14 --- 0.0 0.0
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3 hours UH
time (hr) (cms) S - curve
0 0.0 0.0
1 8.1 8.1
2 21.2 21.2
3 50.0 0.0 50.0
4 68.6 8.1 76.6
5 61.8 21.2 83.1
6 28.0 50.0 0.0 78.0
7 17.5 68.6 8.1 94.1
8 10.8 61.8 21.2 93.8
9 7.8 28.0 50.0 0.0 85.8
10 4.0 17.5 68.6 8.1 98.1
@ 11 0.0 10.8 61.8 21.2 93.8 /




4 N

Pl 4y Sy o Sl colo Dy sl a5 008 oS85 D log S b (Sl Ko 51 85 3,55 ,000) Joli5 izt dmslno Y
(WS g8
Jolas govin 5l aieln F asly B8 g 000 dulxe -
time (hr) S -curve S - curve (4 hours delay) Joli (g 4 hours UH (cms)

0 0.0 0.0 0.0

1 8.1 --- 8.1 6.1

2 21.2 21.2 15.9

3 50.0 50.0 37.5

4 76.6 0.0 76.6 S57.5

5 83.1 8.1 75.0 56.3

6 78.0 21.2 56.7 42.6

7 94.1 50.0 44.1 33.1

8 94.1 76.6 17.5 13.1

9 94.1 83.1 11.0 8.3

10 94.1 78.0 16.1 121

11 94.1 94.1 0.0 0.0

1017000
1.0




R =CP =0.64x (4x2.5) = 6.4mm = 0.64cm
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time 4 hours UH

(hr) (cms) Q (cms)
0 0.0 0.0
1 6.1 3.9
2 15.9 10.2
3 37.5 24.0
4 57.5 36.8
5 56.3 36.0
6 42.6 27.2
7 33.1 21.2
8 13.1 8.4
9 8.3 5.3
10 121 7.7
11 0.0 0.0
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tl :Ct (L X Lca)O.3

0.6
C,=—
t Jg
t
t, = —
° 55
t, =t, +0.25(D —t,)
Qp :Cloé or Q, :Cloi
L, Ui

t, = 24(3+t§') or t,= 24(3+%

or t, =—+1t3




0.208A
Q, =
tp
D
tp :?‘Ftl

t

=—+0.6t,
2

SCS (£ gt (5 yhoudun SO) alg 81,5 g, 000 -Y

t, | QQ,
0 0
0.1 | 0.015
0.2 | 0.075
03 | 0.16
04 | 028
05 | 0.43
06 | 06
07 | 077
0.8 | 0.89
09 | 097
1 1
11 | 0.98
12 | 092
1.3 | 0.84

t, | QQ,
14 | 075
15 | 0.66
16 | 0.56
18 | 042

2 0.32
22 | 024
24 | 018
26 | 013
2.8 | 0.098

3 | 0075
35 | 0.036

4 | 0.018
45 | 0.009

5 | 0.004
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t, =8.38hr
D 4
t, ==+t = +838=10.38~10.5hr
0.208A  0.208x500
Q, = = =9.9cms
t 10.5
p
Q
t/tp Q/Qp t/tp Q/Qp t (hours) | Q (cms) t (hours) | (cms)
0 0 14 0.75 0.00 0.00 13.86 7.88
0.1 0.015 15 0.66 1.05 0.15 14.85 6.93
0.2 0.075 1.6 0.56 2.10 0.74 15.84 5.88
0.3 0.16 1.8 0.42 3.15 1.58 17.82 441
0.4 0.28 2 0.32 4.20 2.77 19.80 3.36
0.5 0.43 2.2 0.24 5.25 4.26 21.78 2.52
0.6 0.6 2.4 0.18 6.30 5.94 23.76 1.89
0.7 0.77 2.6 0.13 7.35 7.62 25.74 1.37
0.8 0.89 2.8 0.098 8.40 8.81 27.72 1.03
0.9 0.97 3 0.075 9.45 9.60 29.70 0.79
1 1 3.5 0.036 10.50 9.90 34.65 0.38
11 0.98 4 0.018 11.55 9.70 39.60 0.19
1.2 0.92 4.5 0.009 12.60 9.11 44.55 0.09
1.3 0.84 5 0.004 13.65 8.32 49.50 0.04
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Surface profile
R . "

iverbed _
Reach
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o= SPrism * Swedge SPrism = KQ SWEdQE - KK(I_Q)

S =K[xT +(1-x)Q]
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S,=k[xl,+(1-x)0O,]
S, =k[xI,+(1-x)0,]

S,—-S,=k[xl,+@-x)0,]-k[xI,+(1-x)0O,]
=k [Xx (Iz — |1)+(1_X)(02 _Ol)]

AS S,-S, I, +1, 0O,+0,

At At 2 2

k[X (|2_|1)+(1_X)(Oz _01)] _ |1+|2 _01+02
At 2 2

(-




X(Iz _|1)+(1_X)(Oz _Ol) :ZA_;(I1+I2)_2A_;(01+02)

At At At
X (Iz - |1)+(1_X)Oz _(1_)()01 :E(Il-l_lz)__ol__OZ

2k 2k
At At At
(1_X)Oz +§Oz :E(Il-l_IZ)_EOl-I_(l_X)Ol_X (Iz_ |1)

At At At
(1_X "‘E)Oz :E(Il-l_lz)_xol_l_(l_x)ol_x (|2_|1)

At At
_|1 4+ —
2K 2K

At At At At
1-X +—)0, =, (=—+X)+1,(=—-Xx) -0, (—+x -1
( 5 )02 = (o -+ X)+ 1,0 -—x) =0, )

(1-x +2A_;)02: |z—01(2A—;+X—1)—X|z+X|1




At At _ 1-x _ AU

O, =1, 2K At+I2 2K AL +0, ZAi;
1-X +— 1-X +— 1-X +—

2K 2K 2K

c K " __ 0.5At —kx
° Atk —kx +0.5At

1-X +—
2k
At
C oK X ~ 0.5At +kx
= -
1y + AUk —kx +0.5At
2k
oy A
o __ "ok _k-kx-05at
S LA Kk —kx +0.5At O =Col, +C4l, +C0,




C,+C,+C, =1

0.5At —kx 0.5At +kx k kx —0.5At

_|_
kK —kx +0.5At Kk —kx +0.5At k kx +0.5At
0.5At —kx +0.5At +kx +k —kx —0.5At

k —kx +0.5At
kK —kx +0.5At

kK —kx +0.5At

=1

=1=>1=1




Time (day) Inflow (cfs)
1 4,000
2 7,000
3 11,000
4 17,000
5 22,000
6 27,000
7 30,000
8 28,000
9 25,000
10 23,000
11 20,000
12 17,000
13 14,000
14 11,000
15 8,000
16 5,000
17 4,000
18 4,000
19 4,000
20 4,000

W ygeo 43 00 0018 03l (5l 325 sla Yol 1 Sl

el g3
x=0.2
K =2 days
At =1 day

DS bdgy ol eolo o3l yo Iy hilie BI)S'g 0




D=k(l-x)+05At =2(1-0.2)+05=2.1
~ —kx +0.5At  -2(0.2)+0.5

C, = =0.0476

D 2.1
C, = kx +0.5At _ 2(0.2)+0.5 04286
2.1 2.1

C2

(-

k(l-x)-05At 2(1-0.2)-0.5
D 2.1

=0.5238

C)n :COI n +C1I n-1 +C20n—1
O. =0.04761 , +0.42861,_, +0.52380 .

ole




e

ole>
e t=1day Time | Inflow
(day) (cfs)
O, =1, =4000cfs 1 4000
2 7,000
e T=2days 3 11,000
4 17,000

0, =0.04761, +0.42861, +0.52380,

=0.0476(7000) + 0.4286 (4000) + 0.5238(4000)
=4143cfs

e T=23days

0, =0.04761,+0.4286 1, +0.52380,

=0.0476(11000) +0.4286 (7000) + 0.5238(4143)
=5694 cfs

(-




Q (cfs)
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/ . \N
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o
/ N
-~ < SRS
o= 0 O-0-0-0
| | | |
4] 10 15 20
Time (day)
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08
dt

S =k[xl +(1—-x)O]

d—S: K [x d—|+(1—x)d£}
dt dt dt

| -O =k [x d—|+(1—x)d£}
dt dt

K [x d—|+(1—x)d£}:0
dt dt

K gX polio cpss s g9,

:Jol 99,
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K gX polio (i sl yog,
dl do _do

ot e X a0 \ dielt doJdt
' (dl _doj:_dg
gt dt ) dt s
do
T
dt dt >

time

| -O =Kk [x d—|+(1—x)d£}
dt dt




K = DS
D

S DS

[x/ + (1- x)O] D

K gX polio cpss s g9,

1290 V9
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100

90

=] (m”"3/s) =0 (M"3/s)

80
70 A
60 -
50 -
40 ~
30 1
20 A
10 A

12

K gX polio cyuni 1 Jlo

time I O

(day) | (m"3/s) | (m"3/s)
1 0 0
2 35 10
3 95 50
4 60 60
3) 35 50
6 20 35
7 10 25
8 5 15
9 0 10
10 0 5
11 0 0




K gX polio g : Jlko

time I @) S x1-(1-x)O

(day) (m”3/s) (m”3/s) m"3 x=0.1 x=0.2 x=0.3
1 0 0.0 0.0 0.0 0.0 0.0
2 35 10.0 25.0 12.5 15.0 17.5
3 95 50.0 70.0 54.5 59.0 63.5
4 60 60.0 70.0 60.0 60.0 60.0
5 35 50.0 55.0 48.5 47.0 45.5
6 20 35.0 40.0 335 32.0 30.5
7 10 25.0 25.0 23.5 22.0 20.5
8 5 15.0 15.0 14.0 13.0 12.0
9 0 10.0 5.0 9.0 8.0 7.0
10 0 5.0 0.0 4.5 4.0 3.5
11 0 0.0 0.0 0.0 0.0 0.0

©




XI+(1-%)0

60

50

40

30

20

10

K gX polio cyuni 1 Jlo

x=0.1

40 50 60 70
S(mz)




X|+(1-x)0

60

50

40

30

20

10

K gX polio cyuni 1 Jlo

x=0.2

40 50 60 70
S(mf’)




40 50
I

X|+{1-x)O
30




/ time | 0] O(method_2) |O(method_1)
(day) | (m~3/s) [ (m"3/s) (m"3/s) (m"3/s)
1 0 0 0 0
35 10 22.75 23.10
3 95 50 71.31 72.93
4 60 60 67.04 68.81
5 35 50 45.30 44.73
6 20 35 27.52 26.46
7 10 25 15.15 14.30
8 5 15 7.88 7.30
9 0 10 2.38 2.02
10 0 5 0.52 0.28
11 0 0 0.12 0.04

100

80

60 /
// I
effl=rcal_O
40

== method_1
ey method_ 2

20




Inflow
—_—

—

_‘\'\ Storage

\_ﬂf_ _/Z‘———\\

Dam

(a)

— Inflow —
Adttenuation of peak
Y

Outllow

Flow (cfs)

s
Lag of time
1o peak

Time (hr)

(b)

Maximum storage A [

!.1_4% A
bgh Af - ”
1

£ Time (hr)

(c)

Oy 30 2budg,

Outflow
_—

—
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_0=2
At

At — OAt = AS

%(|1+ |2)At—%(ol+oz)m =S, -8,

S, 0O, S, O, I, +1,

+ = +—)+ -0
(At 2) (At 2) 2 .
G,=G +1, -0,
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Box reservoir
— A = Area

o0 >3-l 515 Ll

S(h) = Ah




o0 >3-l 515 Ll

» N

AS :%(Ai +A

1+1

)Ah




o0 >3-l 515 Ll

100 110

S100 = 0.0
S110 = 0.5%(A119tA100)*(110-100) + Sy

S120 = 0.9% (A1 A110)*(120-110) + Sy




o0 >3-l 515 Ll
1, .
‘ Q (weir flow)
-\g‘ H Cl’(or'ifice flow)
S
S=f(Q)
Q=f(H)
|\
mﬂow: Q = CA(2gh)*®
Q—
i
~Na
weir flow: Q = Cd BH **
Q —
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1 Jsaa

1 2
dt I

0 0
10 1.7
20 3.4
30 5.1
40 6.8
50 8.5
60 10.19
70 9.06
80 7.93
90 6.8
100 5.66
110 4.53
120 3.4
130 2.27
140 1.13
150 0

2 s
1 2
H 0
0.00 0.00
0.15 0.08
0.30 0.23
0.46 0.48
0.61 0.85
0.76 1.22
0.91 1.70
1.07 2.21
1.33 2.75
1.37 3.31
1.58 3.88
1.68 4.42
1.83 4.90
1.98 5.38
2.13 5.80
2.39 6.17
2.44 6.54
2.59 6.85
2.74 7.16
2.90 7.48
3.05 7.79




1 2 3 4
H 0 S (S/Dt)+(0/2)
0.00 0.00 0.00 0.00
0.15 0.08 609.73 1.06
0.30 0.23 1219.46 2.15
0.46 0.48 1869.84 3.36
0.61 0.85 2479.56 4.56
0.76 1.22 3089.29 5.76
0.91 1.70 3699.02 7.02
1.07 2.21 4349.40 8.35
1.33 2.75 5406.26 10.39
1.37 3.31 5568.86 10.94
1.58 3.88 6422.48 12.64
1.68 4.42 6828.96 13.59
1.83 4.90 7438.69 14.85
1.98 5.38 8048.42 16.10
2.13 5.80 8658.15 17.33
2.39 6.17 9715.02 19.28
2.44 6.54 9918.26 19.80
2.59 6.85 10527.99 20.97
2.74 7.16 11137.72 22.14
2.90 7.48 11788.09 23.39
3.05 7.79 12397.82 24.56
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0.00

1.00
0.00 Q-/

5.00

10.00

15.00

(S/dT)+(0/2)

20.00

25.00

30.00




1 2 3 5
dt [ Im (0] Im-O G
0 0 0.85 0.85
10 1.7 2.55 0.07 0.85

20 3.4 4.25

30 5.1 5.95

40 6.8 7.65

50 8.5 9.345

60 10.19 9.625

70 9.06 8.495

80 7.93 7.365

90 6.8 6.23

100 5.66 5.095

110 4.53 3.965

120 3.4 2.835

130 2.27 1.7

140 1.13 0.565

150 0 0

160 0 0

170 0 0

180 0 0

190 0 0

200 0 0

210 0 0




1 2 3 4 6
dt | Im O] G

0 0 0.85 0 0
10 1.7 2.55 0.07 0.85
20 3.4 4.25 0.49 3.33
30 5.1 5.95 1.73 7.09
40 6.8 7.65 3.49 11.31
50 8.5 9.345 5.16 15.47
60 10.19 9.625 6.52 19.66
70 9.06 8.495 7.34 22.76
80 7.93 7.365 7.65 23.92
90 6.8 6.23 7.57 23.63
100 5.66 5.095 7.22 22.29
110 4.53 3.965 6.66 20.17
120 3.4 2.835 5.86 17.47
130 2.27 1.7 4.77 14.45
140 1.13 0.565 3.51 11.38
150 0 0 2.26 8.43
160 0 0 1.38 6.17
170 0 0 0.93 4.79
180 0 0 0.65 3.86
190 0 0 0.46 3.21
200 0 0 0.36 2.75
210 0 0 0.28 2.39
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2 8
4 15
6 30
8 85
10 160
12 140
14 95
16 45
18 15
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h(m) S(Km3) 0O(m3/s) (S/Dt)+(0/2)
0 0 0 0

0.2 0.16 5.72 25.27
0.4 0.33 16.19 53.27
0.6 0.49 29.74 83.19
0.8 0.66 45.79 114.72
1 0.83 64.00 147.69
1.2 1.01 84.13 182.00
1.4 1.18 106.02 217.55
1.6 1.36 129.53 254.27
1.8 1.55 154.56 292.13
2 1.73 181.02 331.07
2.2 1.92 208.84 371.05
2.4 2.11 237.96 412.04
2.6 2.30 268.31 454.03
2.8 2.50 299.86 496.97

350

300

250

200

150

100

50

100

200 300

(S/Dt)+(0/2)

400

500

600

/




time inflow Im
0 5 6.5
2 8 11.5
4 15 22.5
6 30 57.5
8 85 122.5
10 160 150
12 140 117.5
14 95 70
16 45 30
18 15 12.5
20 10 5

time inflow Im G
0 5 6.5 22.07
2 8 11.5 23.57
4 15 22.5
6 30 57.5
8 85 122.5
10 160 150
12 140 117.5
14 95 70
16 45 30
18 15 12.5
20 10 >




time inflow Im 0 G
0 5 6.5 5 22.07
2 8 11.5 5.52 23.57
4 15 22.5 7.56 29.55
6 30 57.5 13.11 44.49
8 85 122.5 33.09 88.88
10 160 150 82.52 178.29
12 140 117.5 124.79 245.77
14 95 70 120.13 238.48
16 45 30 88.6 188.35
18 15 12.5 54.53 129.75
20 10 5 32.52 87.72
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160 —= Inflow
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140 /
»w 100
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A
S = 213
C, xB)
B 5x10°
(2.2><3())2/3

—=3.062x10°0 %®
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5
3.06A>;10 onzls"'EOZ — v ><012/3—|—§Ol+%(|1+ 1,)-0,

At =3hr =56.7x 0" +%o2 =56.7x0"? +%(|1 + |2)—%o1

Zp.i)‘é | I2:9375 9 I1:25 as O." a 4.?9.’ L?

56.7x 02" +%o2 =56.7 x 25*"° +%(25+93.75) —%x 25

56.7 x 023 +%o2 ~578.5

0,=30.08 m’/s

0,=46.06 m’/s
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X Y

25 10000
40 2000
120 1000
250 700
700 250
1000 120
2000 40
10000 25
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12000
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B loges glgsl )

X Y In X InY ‘so..u)lﬁ 4.0.» b ‘so.u)lﬁ )‘ég.oﬁ‘/
25 10000 3.22 9.21
10.00
40 2000 3.69 7.60 9.00 \
120 1000 4.79 6.91 8.00 \
7.00
250 700 5.52 6.55 \
6.00
700 250 6.55 5.52 500
1000 120 6.91 4.79 4.00 \,\.
3.00
2000 40 7.60 3.69
2.00
10000 25 9.21 3.22 100
0.00 T T T T 1
0.00 2.00 4.00 6.00 8.00 10.00
10000
1000 ——
B
N
100 \
10
1
10 100 1000 10000
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) o mm)) als Lxi el
1 38-39 318.6
2 39-40 824.8
3 40-41 492.3
4 41-42 577.3
5 42-43 2413
6 43-44 433.1
7 44-45 538.0
8 45-46 397.5
9 46-47 636.4

10 47-48 782.7
11 48-49 467.8
12 49-50 682.4
13 50-51 593.5
14 51-52 290.3
15 52-53 676.6
16 53-54 598.0
17 54-55 405.5
18 55-56 436.6
19 56-57 306.8
20 57-58 316.9
21 58-59 486.6
22 59-60 504.2
23 60-61 518.3
24 61-62 362.7
25 62-63 426.9
26 63-64 420.2
27 64-65 440.1
28 65-66 583.9

average 491.4

900
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S o Jled sbaylxo

iy o dus mm)) iyl Kujbgliy | KMY) cul Sl gl 5 Calie (o pualials
1 38-39 318.6 200.0 63720.0 . _.
2 39-40 824.8 150.0 123720.0 T <’)9 U“S" L'-O O
3 40-41 4923 125.0 61537.5
4 41-42 577.3 400.0 230920.0 Z X W
5 42-43 241.3 300.0 72390.0 _ to ot
6 43-44 4331 175.0 75792.5 t=1
7 44-45 538.0 500.0 269000.0 X — T
8 45-46 397.5 75.0 298125
9 46-47 636.4 300.0 190920.0 Z W
10 47-48 782.7 450.0 352215.0 t
11 48-49 467.8 500.0 233900.0 t=1
12 49-50 682.4 25.0 17060.0
13 50-51 593.5 100.0 59350.0
14 51-52 290.3 125.0 36287.5 900
15 52-53 676.6 75.0 50745.0 300
16 53-54 598.0 175.0 104650.0
17 54-55 405.5 280.0 113540.0 700 !
18 55-56 436.6 220.0 96052.0 600
19 56-57 306.8 500.0 153400.0 A l l 7
20 57-58 316.9 380.0 120422.0 500 1 X fA Z
21 58-59 486.6 250.0 121650.0 400 7 U \A \ M
22 59-60 504.2 325.0 163865.0 \ l u Y4
23 60-61 518.3 75.0 388725 300 v
24 61-62 362.7 300.0 108810.0 200
25 62-63 4269 450.0 192105.0
26 63-64 4202 500.0 210100.0 100
27 64-65 4401 370.0 162837.0 0 . . . . . .
28 65-66 583.9 215.0 125538.5 0 s 10 15 2 )5 30
491.4 7540.0 3579212.0

mean 474.6965517
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Soate
o Jus mm)) aiyle Sui b g sl Al s S e (580 Al =y Al cia
38-39 318.6
39-40 824.8 545.2
40-41 492.3 631.5 490.9
41-42 577.3 437.0 513.8 489.3
42-43 241.3 417.2 456.4 500.6
43-44 433.1 404.1 437.4 473.7
44-45 538.0 456.2 449.3 515.2
45-46 397.5 524.0 557.5 499.5
46-47 636.4 605.5 564.5 562.6
47-48 782.7 629.0 593.4 585.5
48-49 467.8 644.3 632.6 550.1
49-50 682.4 581.2 563.3 590.0
50-51 593.5 522.1 542.1 584.5
51-52 290.3 520.1 568.2 530.6
52-53 676.6 521.6 512.8 526.1
53-54 598.0 560.0 481.4 472.5
54-55 405.5 480.0 484.7 433.0
55-56 436.6 383.0 412.8 461.0
56-57 306.8 353.4 390.5 436.4
57-58 316.9 370.1 410.2 425.0
58-59 486.6 435.9 426.6 418.9
59-60 504.2 503.0 437.7 417.5
60-61 518.3 461.7 459.7 433.7
61-62 362.7 436.0 446.5 451.3
62-63 426.9 403.3 433.6 465.2
63-64 420.2 429.1 446.8
64-65 440.1 481.4
65-66 583.9
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1333-34 7.31 53-54 13.4
34-35 9.92 54-55 15.1
35-36 12.78 55-56 8.81
36-37 7.94 56-57 10.21
37-38 8.44 57-58 9.18
38-39 4.33 58-59 10.84
39-40 8.41 59-60 12.56
40-41 7.45 60-61 10.72
41-42 13.19 61-62 12.71
42-43 7.44 62-63 5.36
43-44 6.19 63-64 15.09
44-45 10.52 64-65 11.5
45-46 6.31 65-66 6
46-47 11.44 66-67 10.3
47-48 27.27 67-68 9.5
48-49 9.75 68-69 8.4
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75-76 2542.8 400
76-77 7841 1070
77-78 2400.5 520
78-79 2745.6 415
79-80 2254.2 370
80-81 14894.1 2240
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Probability density function
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(Goodness of fit) 551, 56 sle o,
( x° )Chi-square _xs,

(Kolmogorov Smirnov) L K-S 24,




v=k—-p-1
X =Xy

:Chi-square _p9)
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oPilm (295 sla Oge)
(Chi-square) 39Sl IS« ;%;o)T v

b s | (O) losalin Sl [ (Ej) Wil 390 sl s
0-5.62 3 5.8
5.62-6.08 7 5.8
6.08-6.51 6 5.8
6.51-7.05 9 5.8
7.05 Jl G 4 5.8

(-

-5« (O-E)' (3-58° (1-58 (6-58)° (9-58 (4-58)

E.

v=k-—p-1=2

5.8 5.8 5.8 5.8

1’ =393 <%y g5 =599 anwl gaB 3590 455 390 &2 95

5.8

=3.931




(K-S, Kolmogorov-Smirnov) :; e

obs(X) -

obs(x) obs(x)

Dc — MaX‘ |:est(Xi) obs(X )‘

D, > DO[,n

D. < Da,n
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Weibull : — — uniform distribution
n+1

Gringorten:  M=04% . Gumbel & Weibull distribution
n+0.12

Blom: m-3/8 —  Normal & Log Normal distribution
n+1/4

California : m
n

Hazen: 2m—1
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Q00 =107 =39100 m3/s
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ool L6 eslw v

olaob! 08guxo V'




S

sainl Jlon o gl disl> slas, Jles!

J=1-(1-p)"

Jy =

sainl Jlon o ¢ 4ok JSlas slos, Loz

1l

TS -p)"p’




yodz ouds ] Jlw ¥ 50 Jlo Yo S 3 0590 b ai¥lo o (ol alaxd 235 Tus 989 Sy ) JLio

el

Al Bee o bl 32 990 (o0 (S oy, Jlo Voo (3T o po &5 Gias 31y s aziliz Y Lo

sz w0 £ )l Sy Jilao s Wl oo sae 50 (s oy 4l Jlosol bl o > 1b

el




s ools g3tk 9 3ol

0l le ;55 (691,15 (5glg e LS VA Lad




L sold (3519355 5 (SRop 9051V
b o0ls 7Mool g el gy g0V
1 00l (4099 Sobai ygo;V

1 oold culas yg03lV

b cold a9 ug&)T\/

O g b ool auxis gg.o)‘i\/




™~

(double mass) caclan o> (9,

(cm) aYle (Sui,b (cm)aYle (o' Sy
A 5B -C-D A 053B-C-D
1952 30.5 22.8 1952 30.5 22.8
1953 38.9 35.0 1953 69.4 57.8
1954 43.7 30.2 1954 113.1 88.0
1955 32.2 27.4 1955 145.3 1154
1956 27.4 25.2 1956 172.7 140.6
1957 32.0 28.2 1957 204.7 168.8
1958 49.3 36.1 1958 254.0 204.9
1959 28.4 18.4 1959 282.4 223.3
1960 24.6 25.1 1960 307.0 248.4
1961 21.8 23.6 1961 328.8 272.0
1962 28.2 33.3 1962 357.0 305.3
1963 17.3 23.4 1963 374.3 328.7
1964 22.3 36.0 1964 396.6 364.7
1965 28.4 31.2 1965 425.0 395.9
1966 24.1 23.1 1966 449.1 419.0
1967 26.9 23.4 1967 476.0 442.4
1968 20.6 23.1 1968 496.6 465.5
1969 29.5 33.2 1969 526.1 498.7
1970 28.4 26.4 1970 554.5 525.1 /
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(run test) JIg og031 (bs)

) Jw (50 o) ¥l Sk £ Glo op8 (ST oD L p0 (Sbd 0318 B gL
1 1962 492.5 782.2 A
2 1963 577.3 702.6 A
3 1964 461.8 682.4 B
4 1965 433.1 636.4 B
5 1966 538 587.9 A
6 1967 397.5 577.3 B
7 1968 636.4 538 A
8 1969 782.2 519.2 A
9 1970 467 492.5 B
10 1971 682.4 475.2 A
11 1990 324.2 474.4 B
12 1991 474.4 467 B
13 1992 475.2 461.8 B
14 1993 587.9 437.6 A
15 1994 702.6 433.1 A
16 1995 216 397.5 B
17 1996 519.2 324.2 A
18 1997 437.6 216 B

n,=9 =12
4l

483.9
/




(n, +n,)+2n,n,

n, +n,
, _ 20,y (2n,n, —n, —n;)
(na t nb)z(na +1, _1)

SD =4/52
R-Epq

SD
1-a=90=-1645< 7, <1.645

1-q¢=95=-1.96<Z, <1.96
1-a=99=-2.575<Z, < 2.575

E(R) =

A

™~




)

oly 0%

-

loolanw! b caud

B

U Jeu=

10 11 12 13 14 15 16 17 18 19 20

max(n_,n, )

9

3

ol [+ efovo wo o] clo 2o a]o ale afe af- Al ale e &l w]o ]
q ol afselo oo zlo o tloefo glo sle ale ol sl zle ale ale sle s
wofo aleelo oo 2o o) tlo efe 2lo alo sle gle gl 8l wle gl s
wofoaleeleglo zlo )t 2fo ol glo sfe gle gl gl 1) g
ol aleele oo 2lo 2fo £f- 2fo 2l gls 5lo slegle sl «
ey e u._n.u 47_ T 4 ] _“_.._._n_ _.n_ [ 5 [ 5 & _.4,_ & E._j bl L E 3.&
e e ealer 2l e Tle Do D= Sl 2o Ble Sle Slo 5
e e eafen 2l Bl F e o O e S @ e @ e 2
e o fed e fen Dl S P Tlo De D - 2 W

v e S S P Tl Do Do S

25u.__mun.._q.;4,...._51._.F._F.n__.n__.n__n__.n_

e eafen Do Ml Dy Tlo Tl W

e el B len T e Ml P T

e eafed Sen = e Do &

EE_ju._n.uu._"

e m fed 2

N ® % e w ~ w o 2 7 § 2 F 2 2 K 2 2 §

(“uu) urm




S g2 g0 ).a.c ‘Slb odld u..s.o.?u

<L 09y 9 2Weyd bV
a9 Lol L5’ (50,
S5 ouSileo g,V

v

Sl090d (so9




9590 yul (5B 0018 yuoy

lE..’ osl I.Lé..’.‘-’,z’s)

L Comw
J A vl Sl B ayl. Sx b
1365 310
1366 352
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1368 430
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1371 256 282
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1373 230 293
1374 300
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1376 310 365
1377 280 393
1378 250 310
1379 262 280
1380 242 275
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2(N —2)
3 Il L o2l

1991 652

16 N - 29 1992 153
90 1993 732

1994 500

7 = P~ E(p) 1995 357
[Val‘( p)]O'5 1996 499

E(p) =

var(p) =

1997 676
1998 526
a=5%n = -1.96<7<1.96 1999 482
2000 514
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E=—mv
2

KE =11.87+8.73 log(i)
127.5

KE =10.2+8.9 log(1)

KE =29.8—-

KE =916+331 log(1)
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LS =[ -2 (0.065+0.045S +0.00655?)
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7, =7.RS
anl T &S 50 Glro 4l <S5 sy p3Y Cas s JBlu>Y
v=0.152 d°**(G-1)*°

SDR=43.4 A %3 Cgmy oY

if A<10 mile? = SDR=46.7 A%
if 10< A<100 mile’ = SDR=64.6 A"

log(SDR) = 2.94259 -0.8262 co Iog(%)

SDR =1862 A°'23(%)‘°'51(B)‘2'79
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265+582+36+715+522+195+6.88+3.94
iy ol = : = 4,65 M.ton/year

5 b= 3o b+ s U

=4.65+ (%)*4.65 =5.12 M.on/ year

1898 Jlo 33 3l dmmslono o

g, =0.02Q%" = Q=3450M.m° = q, =5.99M ton




SYLo gy o :%:4.266 M.m?

Jho e 0 gy oz = 4.266*100 = 426.6M.m”°

4266
3050

Jhs 1o 30 gy o2 dnmilxa .
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(oS JLo) gdaw s o9y 4 o (350 30 (5,09

™

A phupli))l |l mhan | Al aaa | (55 Gas | p))is Gas Ap=2.324p"*(1-p)** ) Cialiss g paa iy orant paa [oad 3l Calia) 023 #3bal aaa

272.5 13562 1875 42.5 1.000 0.00 0.0 6.16 250.81 13562.0 1624.19
270 11512 1561.44 40 0.941 0.73 492.8 23.56 244.65 11019.2 1316.79
266 9579 1134.95 36 0.847 1.01 685.1 29.35 221.09 8893.9 913.86
262 7780 736 32 0.753 1.15 782.5 32.31 191.74 6997.5 544.26
258 5822 532.42 28 0.659 1.23 832.8 33.66 159.43 4989.2 372.99
254 4246 332.81 24 0.565 1.25 850.0 33.78 125.78 3396.0 207.03
250 2957 188.98 20 0.471 1.24 839.1 32.81 92.00 2117.9 96.98
246 1904 95.11 16 0.376 1.18 801.3 30.71 59.19 1102.7 35.92
242 1085 8 12 0.282 1.08 734.1 20.80 28.48 350.9 9.52
238 306 6.81 8 0.188 0.93 306.0 6.90 7.68 0.0 0.00
234 39 0.57 4 0.094 0.69 39.0 0.78 0.78 0.0 0.00
230 0 0 0 0.000 0.00 0.0 0.00 0 0.0 0.00




